% é 5 6% C@ Beregn prosenter av desimaler

StudentName: ExamDate: ______ ExamScore: ___
3,76 x 80% = 1,73 x 20% =
5,77 x 60% = 4,14 x 60% =
4,2 X 90% = 0,38 x 20% =
3,85 x 20% = 1,1 x70% =
5,09 x 20% = 8,65 % 90% =
3,17 x 50% = 4,36 x 90% =
9,32 x 30% = 1,74 x 80% =
3,91 x 20% = 1,36 X 80% =
8,69 x 80% = 4,54 x 80% =
5,53 X 90% = 7,51 x 70% =

www.snowmath.com


https://www.snowmath.com

W & § @id
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StudentName:

3,76 x 80% = 3.008

5,77 x 60% = 3.462

4,2 x90% = 3.78

3,85 x20% = 0.77

5,09 x20% = 1.018

3,17 x 50% = 1.585

9,32 x30% = 2.796

3,91 x20% = 0.782

8,69 x 80% = 6.952

5,53 x90% = 4.977

ExamDate:

1,73 x 20% = 0.346

4,14 x 60% = 2.484

0,38 x20% = 0.076

1,1 x70% = 0.77

8,65 x 90% = 7.785

4,36 x 90% = 3.924

1,74 x 80% = 1.392

1,36 x 80% = 1.088

4,54 x 80% = 3.632

7,51 x70% = 5.257
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